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s . 00 BRI B, I —A

7 5% e 400 200 & . .
576 gL i 7| e 400
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e = AL wmESy | WEGHE R *—%‘%ﬁ W”iﬁfﬁ’*‘i% BB gL Rl 253
577 FREL IR N —= 100 100 A
578 paEZS NF—= 300 0 A
579 PEHAIE AL 2000kN A UL I % —= 1000 0 =
580 PEHRZEAL 50KN & UL~ NFE—= 500 0 =
581 PEHAIE AL 50kN-2000kN % —= 800 0 &
M. 4B, WBIK. B BRIk . .
582 TR I TAE N —= 400 0 E
583 RGP CSED) (1-10)kN = 1000 0 =
584 FrAEd 4 CR A (1-10kN) NF—= 600 0 A
585 NI 15— 600 0 =
586 5 B 12 2 50 e A % —= 300 0 =
587 CBRAEIAX J15—= 400 0 =
588 | #HUALN T Y EL I BEAS RIS AL 12— = 3000 0 &
589 B i (kB 1 MU (0~250)MPa = 250 0 A
590 Bk ik (kBT (0.05~0.1)% (0~60)MPa J1% = 450 0 A
591 U 11t 1% (0~20)kPa A 150 0 A
592 WA EERE (0.05~0.5)% D15~50mm D1 1100 0 5
593 WA AR E (0.05~0.5)%% | (80~150)mm NFE=E 1400 0 .
594 st (1.5~4)% DN(6~100)mm J1%¥ = 300 0 &
595 FNELY b e 0.5% K LR <DN1000 J1 = 3000 0 =
596 KRR >DN1000 0.5%% &% UL~ ¥ = 5000 0 &
NeS =N T A 1 — 0
597 “Eﬁmf‘g’”‘bﬁg&f\'o‘ ME - Ore=0.5% HE—z | 400 0 & 2 AR
598 HEE VAL 250 0 =
599 RS Iy 1000 0 &
600 5 f L 75 A A VAL 1500 0 =
601 BHEAS 5 A EE AT 1w 1600 0 &
602 = LCALR 1% = 500 300 = B3 38— A8 S k300
603 JHVERL 0.1-1.0% DN:<100mm J1% = 500 300 &
604 CO21ii 75 I’ AL 140 0 =
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B

BRI B 1 re B

Fs BRI HHEER WEEE AR G2 (55) W B BT i % 53
605 SEREBENERN Sy 500 300 =) BRI — M E RS 1300
606 STEREAL Ji% = 200 100 & T
607 M55 7K A ity 1K 2 JAL 300 0 =
608 JE 4 A 1% = 300 0 =
609 PR 5% EUN JAL 400 0 =
610 AR A Iy 1200 0 =
611 BT B AR RIS 3 B A 400 0 =
612 ﬁﬁ%%%@%i?%ﬁ%ﬁﬁ% Sy 400 0 A
613 | ] P BRI AR & Iy 2000 0 =
614 AR AR IAY N#E 1000 0 =
615 BHE ] B I R P RE A A Iy 1000 0 =
616 AR SR T A J1E 140 0 A
617 AL Iy 140 0 A
618 SN2 5 FLAR 7 3 E ShAE A J1E 1600 0 &
619 AR ER VAL 40 0 e
620 [X_ 8] J1E 800 0 A
621 TEAER VAL 400 0 e
622 PR I S I E X 1= 400 0 =
623 BB Iy 300 0 =
624 PR BN 385 BT A A 400 0 =
625 IR S50 e X AL 400 0 =
626 IR 4 2 A A J1 500 0 &
627 RS (—D) VAL 300 0 A
628 B E 1R S = 40 0 H
629 AR VAL 150 0 A
7

630 WLBh 7 0 iR HE IO I 15 4 Urel=0.9%; % VAL 1500 0 (=

#Urel=0.2km/h
631 K R % 100 0 H
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B

BRI B 1 re B

Fs REAK HHRESFR WETEHE AR 1] G2 (55) W B BT i % 53
632 i I A J1 = 500 0 =
633 $i 5 5 s i 400 0 A
634 KERERE 0.2-0.5% Dgéol?r%_ F1 s 2000 0 &
635 T HUEREHBI R S5 Iy = 2000 0 =
636 B A T R AX Iy 400 0 =
637 ol FEL I A 3 s e P R B AT Iy = 500 0 =
638 ek 1% = 400 0 g
639 SR Iy = 400 0 A
640 B i (i By (0.2~0.5)%% <250MPa VAL 300 0 g
641 AL Iy = 400 0 =
642 PR AR 3%~5% CO:0-5% J=s | 1300 0 &
HC:6400ppm
643 VRZE PR ) A 0.03 (5~1000)Hz = 800 0 =
644 NAEIRED I EA 5%1%10% (5~200)Hz J1% = 480 0 &
645 EinenIb ik 0.03 >1Hz J = 800 0 5
646 NAME T HTX 0.1 (10~40000)Hz 1% 800 0 =)
647 AR BN 7B A 0.05 (10~2000)Hz NF = 700 0 =
648 I A 3 5 T 0.05 % E 640 0 =
649 RN 5 idAX 0.05 (10~2000)Hz J1 = 720 0 &
650 PR B KAE M AL 0.03 <5kHz 1w 1000 0 &
651 MR A GERBUOR ) 0.03,1 . 1% (10~5000)Hz T % 720 0 =
652 JEC 28 1) B AN +10cm J1 s 400 0 &
653 REEGREAN RS 1% = 1400 0 =
654 ZERRAPER R ST AX Iy 1400 0 &
655 VRIE R B ) 2 IR A 25 A 1% 700 0 =
656 JEET R 1,1.6,2.5,4%% 0~60MPa Ji% 60 0 H
657 P& 3R 1,1.6,2.5,4%% 0~20kPa VAL 70 0 H
658 RV WA 1,1.6,2.5,4%% 0~60MPa J1 = 70 0 He
659 Ak 1R 1,1.6,2.5,4% 0~60MPa % 100 0 H
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B

BRI B 1 re B

Fs REAK HHRESFR WETEHE AR 1] G2 (55) W B BT i % 53
660 R RE R, BER 1,1.6,2.5,4%% 0~60MPa yAL 250 0 H
661 HERETR 0.25, 0.4%% (-0.1~10)MPa P 150 0 Hh
662 5 2% 1R = 0.162% 0~40kPa S = 180 0 H
663 T ZE B2 1.6,2.5,4%% 0~2.5kPa VAL 150 0 H
664 JE A AR R 2.5%% e 180 0 =
A L2} A .
ee5 | (7 fjjﬁ s 2.5,44% AL 180 0 &
e
666 i T R A 2.5,4%% Iy 180 0 =
667 JE AR IR (0.05~0.1)% (0~60)MPa )%= 450 0 A
668 JE iRk 0.2~0.5% (0~250)MPa NE=E 300 0 g
669 Sk RS 1,1.5,2.5,4% (0~250)MPa NF = 250 0 A
670 JE AR %A (0.2~0.5)%% (0~250)MPa = 300 0 A
671 JE ARk A 0.05~0.1%% (0~60)MPa AL 450 0 g
672 JE B EA (0.2~0.5)% |(-0.1~250)MPa| J1%¢ = 400 0 A
673 i 7745 ) A 1,1.5,2.5,4%% I 300 0 &
N . (0~40000) .
674 JE I U R 0.25. 0.5 min %= 220 0 A
675 WL ZEHES BT 0.05 VAL 1700 0 =
676 Pr AL 0.1 (5-2000)Hz DA 400 0 &
677 VMASit &t 0.1 (50-180) L/s VAL 1200 0 =
678 REHSIE D HTX 0.1 (50-180) L/s YAl 1200 0 =
679 RANLEL R VAL 400 0 A
680 il 1w 500 0 &
681 EVALN 1% = 900 0 =
682 R R ) Iy 550 0 &
683 I A T % 300 0 =
684 ANEE T 1w 560 0 &
685 IR v VAL 600 0 =
686 HiRAS H ¥ = 400 0 &
687 Tl EE W7 AL 300 0 =

%327, L6810




RN ENRRE (R FragRkS M BAE. RERS R
e A AR RSB RE . e R E SRR ARV B R AR, XU U R

B

BRI B 1 re B

Fs BRAZK HHEER WETEE AR o) (55) W B BN 90 B Ui B
— A _ ~
688 I ST *;Sb)ﬁﬂ%g P 500 40 4 SRR 40
689 Yol A 1= 140 0 A
690 JE 1zl as (s A TEoR) 0.5 K UL F AL 180 0 A
691 SEFE BN EAX 1= 500 0 =)
0/~ () - N
692 B e s | 300 300 A | AR k300
0/~ () - N

693 BB 60 nggp e sz | 300 300 A | R k300
694 T A FEE A S = 400 0 =)
695 R T (0.1~0.2)% DN:<50mm = 800 0 &
696 J L T (0.1~0.2)% | D(80~150)mm J = 1000 0 =
697 Jo B (0.1~1.0)% DN:200mm Fyme = 1200 0 &

L (0.2~1)%, DN: [ ~
698 IRV TR=ann <50mm S T= 800 0 =

s (0.2~1)%, . ..
699 R E T D(80~150)mm AL 1000 0 A

s (0.2~1)%, s .
700 IRV TR=unn DN:200mm S = 1200 0 =

s (1.5~4)%, . ..

701 et DN(6~20)mm AL 150 0 A
702 B I e 0.5 K UL'F AL 900 300 = BRI — X% IS 1300
703 WA >0.5% 0-5m J1 260 0 =
704 B AT AR A VAL 500 300 = A3 i — AL S Inl300
705 BTk 2RI AL 400 0 =
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B

BRI B 1 re B

Fs BRI HHEER WEEE oy — 90 B Ui B
n) o)
Y. (15~
S e
706 JE A DAL 0.1%; I} A] km/h: H&raﬂ- 1500 0 =1
MPE: £3ms | 1 _999.999)
S
. _ (21.6~ oy A
707 Z 5 BT 0.3%; k=2 7109 % N T= 450 0 =
708 HLBh ZE3 & BT +1% 170~2000m3/h T = 800 0 =
709 BAEHR E B +1% 170~2000m3/h AL 800 0 =)
CO:0-5% .
Y= AN y 04 ~50 L — 2z PN
710 ST 3%~5% HC:6400ppm T E 1300 0 5
711 4= H s 0—10Rb A 400 0 =
712 B 1B & +3% (0~40)kN = 750 0 =
713 IREREAL +2% (0~100)kN %= 710 0 =)
KIGamE: (50
~300) x
e N 102cd; St4h o s
VS HE LT #4530 0 > ey VN
714 PLAD 2RI i BT A X +15% B, 29— F2 J1%: 710 0 A
°30', £2°30'~
#2°30'
715 BERAAEERRKR G +3.0% (0~120) km/h ALt 710 0 &
716 M & +0.2m/km (0~7)m/km T = 710 0 &
717 7 By R ERAX +1% | - J15 1050 0 =
718 A5 % 1] Bl 1 BE I AN AL 640 0 =
719 AR IR i 0.05 S = 500 0 &
720 5 ) Z B X 0.1 1kN A 500 0 &
721 BRI (+3%) 0~99.9% P 500 0 &
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e = AL wmESy | WEGHE R *—%‘%ﬁ W”iﬁfﬁ’*‘i% W Rl 253
722 BLEh it 0.01 (600PE%999) Sy 400 0 N
723 HEIR A RO 00 07 e | 400 0 &
724 WA PR L Iy = 300 0 =
725 BUE AR 1.0%% Iy 340 0 H
726 A ETAEVANES 1.0%% Ji s 340 0 e
727 BUE AR 0.5%% 2 420 0 He
728 A ETAEVANES 0.5%% Ji s 420 0 &
729 HAR I AT s F2 A 1.0%% 1% = 340 0 =
730 TR A 7 FE A 0.5% Iy = 420 0 =
731 B eI AL Iy 500 0 =
732 AR e AL J1E 180 0 =
- 5 17
733 P B & Si{%ﬁg?f‘;% 4000daN; %k VAL S 1460 0 f
’ CT #: 5000kg
734 PRIEAX J1E 300 0 =
735 HERS VAL 500 0 =
736 WL RE £ E ik 2 4t J1 = 500 0 &
737 IKFAG E BB 0.2—0.5%% |DN: 15—25mm T = 800 0 =
738 KM R E 0.2—0.5% Di\lo:oﬁ?n_ P et 1500 0 =
739 e O A 1w 900 0 &
740 AARER. LK (1~4)% (0~40)MPa T = 40 0 He
741 WUETH(E L) TAEH (0~2.5)kPa PAE 150 0 He
742 R 2 M T 0.164% (0~40) kPa T = 250 0 e
743 i 25 1ML 1 0.4%% (0~40) kPa 1% 140 0 He
744 K% s 3R (0.25~0.6)% >5MPa J1%¥ 120 0 e
745 B VAR 0.25,0.4,0.6%% <5MPa J1% = 100 0 H
746 HL S (FEA% ) 19 LU R (0~60)MPa % 50 0 H
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FE =R WmESE | WEEE el s Rl Rl 390
747 JE % 1K VLT (0~250)MPa NF=E 40 0 h
748 JE R A (0~60)MPa P 250 0 =
749 JE IR A (0~250)MPa ¥ = 260 0 =
750 HAENER (1~4)% D1 = 40 0 B
751 JE ARk A G MU (0~250)MPa AL 250 0 A
752 LR S E R (0~40)Mpa NE=E 210 0 =
753 JE 1R R M IR A (0~60)MPa AL 140 0 =
754 REHRE S 1% = 1000 0 =)
755 F X N = 900 0 =)
756 Mt 1% = 700 0 =)
757 PRI N = 500 0 =)
758 PU%E e A4 1= 2800 0 =
759 BT I 1100 0 =)
760 JEZ i 1,1.6,2.5,4%% 0~2.5kPa = 150 0 e
761 ZJEi 1,1.6,2.5,4%% 0~2.5kPa 1= 150 0 H
762 LA A B o 0.01~0.2 (OT/‘;?S]OO) ol 400 0 A
763 HL TSR e 2% 0.5~1.0 (OT/‘;?S]OO) Pl 280 0 A
764 T 0.01~0.2 (Ojl‘rggom AL 400 0 A
765 il A K 0.5~2.0 <0~r/$noi?]oo> Pl 300 0 A
766 U et o 0.5~2.0 <0~r/$noi?]oo> ol 300 0 A
767 75 LR R IR 0.5 <0~r/$noi?]oo> AL 700 0 &
768 R e 0.1 (Otl‘rfi?]om VAL 800 0 &
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) = ALK W MR RTHIT *—%‘%ﬁ W”iﬁfﬁ’*‘i% W Ho sl 2
769 S R B 001~005 | (0749907 1 s | 1600 0 4
770 T T 0.01~0.5 (07A00000 | )y 600 0 %
771 A E R A e (0~9999) m JAL 720 0 =)
772 VR B IR L7 AR 0.1 AL 840 0 =)
773 2L 1= 600 0 =
774 FEF IR R R G AL 400 0 &
775 Z WA S TR 0.1 (10~2000) Hz| J1%—= 800 0 =1
—— —
776 e e ] REAMBET gpew | 0 &
777 WA T 9k ICRILHLIE | 15 75 0 =)
FR FEL b BN
778 T T S PEERST | a000 0 &
779 MEAEA CHEE) AL 500 0 =
780 [ IR R TR e 2 B A 1000 0 =
781 LR FIRRLCHIL = | 2 0 ‘o
782 HLTE U1 2% A A e AX 0.1sbl |k AL 600 0 =
783 i (R EAX 0—10000kg AL 710 0 =)
784 18 48 3 il B A 12 640 0 =
785 il SR T E J1 640 0 =
786 B m) - F I EAX I 640 0 =
787 YRR A HRAT R 0.15 8000~-30000cd AL 710 0 =)
788 AR AT MR & 0-30m/km A 710 0 &
789 JEARUHEE LT 0—10Rb J1 500 0 =
790 R PN B I 1000 0 =
791 A e (PY%e) J1 2000 0 =
792 JHEE T (+3%) 0~10FSN 1% = 560 0 &
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FE =R WmESE | WEEE el s Rl Rl 390
793 W DIHL AL, 700 0 =)
794 R A P 700 0 =)
795 F A A AL 500 0 =)
796 BEFEAX 1% = 600 0 =)
797 WA AL 800 0 A
798 R 0.05 (10~2000)Hz NE=E 1500 0 =
799 Jis F ek BE v 0.05 (10~2000)Hz VAL 500 500 G |[EEEINLARS SR Y500
800 PR B JEAL AR 0.05 (10~1000)Hz VAL 400 0 =
801 fRIRAE 0.05 (0.5~200)Hz NE=E 400 400 =
802 891 1R %% 0.05 (0.5~200)Hz J1% = 1600 0 =)
803 941 R 0.05 (0.5~200)Hz = 1600 0 =
804 IR AL KA 0.05 (10~1000)Hz AL 400 0 g
805 MHRAX 5%, 10% (20~2000)Hz NF=E 480 0 =
806 TR IR 5%, 10% (20~2000)Hz %= 480 0 =)
807 AR R 5%, 10% (20~2000)Hz = 480 0 =
808 AN FEIRSN 0.05,1, 2%! (2~100)Hz AL 480 0 =)
809 Ish& 0.05 <200kg = 800 0 =
810 Wbk ah k% & 0.05 <200kg 1% = 800 0 5
811 BRI S 0.05 <200kg = 800 0 =
812 BEARSAE S 0.05 <200kg J1% = 800 0 &
813 ALK RS IAR & 0.05 <200kg T = 800 0 =
814 e & 0.1 <100kg 1% = 800 0 &
815 fill i & 0.1 <500kg T = 900 0 =
816 S 0.05 10-2000Hz 1% 900 0 &
817 FERES A 0.05 10-2000Hz T = 900 0 =
818 it (10~2000)Hz 1% 600 0 &
819 FLART JOR NS VAL 640 0 =
820 Fr IR AL RS 0.05 <100kN J1 = 1350 0 &
821 WUl S 0.05 1% = 1350 0 5
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e = AL wmESy | WEGHE R *—%‘%ﬁ W”iﬁfﬁ’*‘i% BB gL Rl 253
822 MR B0 R St 0.05 <10kN J1 = 1350 0 =
823 ZIHIE(E TR 0.1 10-2000Hz i 700 400 5
824 Pr#ER B 0.02 (5-5000)Hz VAL 600 0 &
825 S EE R S 0.05 (200-1000)m/s NE=E 1400 0 =
826 PhE I E A 0.05 (200-1000)m/s VAL 640 0 =
827 HiFEAL 5%k 10% VAL 560 0 =
828 LA AR 0.05 (10-1000)Hz R 500 0 =
829 HhPRIR K 0.05 (10-1000)Hz NE=E 500 0 g
830 Rk 0.05 (10-1000)Hz VAL 500 0 A
831 FLIRER K 0.05 (10-1000)Hz NE=E 500 0 g
832 Bk i 2 A 0.05 (10-5000)Hz AL 800 0 A
833 I AR HEAX 0.03 <1007 Iy 380 0 =
834 BIVREisiRs & 0.1 <1000kg 1% = 1350 0 5
835 T (BEEED) VAL 100 0 A
836 & A 1% UL T (0-60) MPa I 100 0 A
837 EEER &S 2 400 150 =
838 SR PV e 700 0 &
839 o i L PR ML 72 4 H2E = 700 0 =
840 i o 1x107LLF FL 2 1000 0 =
841 piEDsE AR A 10-7~10-9 [DC: ~1000 MHz A2 1600 0 =
842 B AIE T 1x107LLF 10Hz~1MHz H2E 1000 0 &
843 B =X 10-5~10-7 |[0.01ms-9999.9s A7 o 560 0 =
844 BroR gl 0.005 DC~1000MHz FH 2 5 3200 0 &
845 B sl 2%, 0.01% DC: ~500MHz IR 1600 0 B
846 A & 2%, 0.01% DC: ~500MHz HH 27 800 0 &
847 BN s 0.005 DC~1000MHz HH 2 1600 0 =
848 et a1 2%, 0.01% DC: ~500MHz FH 25 1600 0 &
849 BA AR Al 0.005 DC~1000MHz A7 3200 0 =
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850 B AT TN I A 0.005 DC~1000MHz H2E = 1600 0 =
851 BT AT R I A 2%, 0.01% DC: ~500MHz e 800 0 &
852 B S R A A (0.5-30)MHz L2 400 150 =
853 B S AR A 27 400 150 =
854 T A5 E Ui g & FH 27 5 240 0 =
855 T 1 A R 27 400 150 =
856 IS R Sk H 2% 500 0 =
857 A& +3% 300~1000MHz L 640 0 =
858 TN A +3% 100~300MHz H2E = 640 0 =
859 B A 10-5~10-7 F 27 2 500 0 =
860 i H2E = 150 0 =
861 ) 24k F 2 0 3R 2 700 0 =
862 ) 8] 4k FL 2% 0.3s (1~3600) s Hi 22 300 0 =)
863 Ve +4s/d HEEE 150 0 =
864 T IR 83 1x10- | TMPZSMAZIO N g 1000 0 &
865 AT RS P R HH 2 400 150 &
866 iR B 1x107 DL F H 2 1000 0 &
867 S 1x107LLF FH 2 5 1000 0 &
868 THI 2% 2 300 0 =
869 BIROES 0.01s 1s-60min HH 2 100 0 &
870 [ A A 0.5% FH 2 800 0 =
871 bR BUR AE A 0.05 1Hz-2MHz H 2R 450 0 &
872 PRECR A A +(5%~0.1%) DC: ~20MHz HL2E = 580 0 =
873 RRE BRI 1x10-9 [ TMPZSMHZION | 1250 0 &
874 Z et Bids 10-7~10-9 10Hz~2GHz H 2R 1600 0 &
875 B2 AR e 10-7LLF 10Hz~2GHz FH 2 1000 0 &
876 T2 T U o 2 S 2000 0 &
877 B T2 2 Uk 240 A7 1000 0 =
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) = ALK W MR RTHIT *—%‘%ﬁ W”iﬁfﬁ’*‘i% W Kol 250
878 7R ER 1x10-6 0.01s-1d 22 160 0 =)
879 HL T Fb 3 1x10-4 1ms~600s FH 2 200 0 =
880 HL T 2= AP 1x10-7 0.1ms~10s 22 520 0 =
881 R RFEE, BT +6x10-3 (1~3600)s FH 5 2 220 0 =)

e 0.01~300)V R

=R 3 ~1)0 ( 2 S

882 RS 5 kAR +(0.1~1)% 10HZ~1MHz HH, 27 700 0 =

e 0.01~300)V .

=R 3 ~ 9 ( e 4

883 &5 5 RS +(0.02~0.3)% 10HZ~1MHz HH, 27 900 0 =
884 R T A AL 22 % 80 0 =)
885 FRR R A ik 600 0 =)
886 R4 (0.5-30)MHz HLA 5 400 0 =
887 AR A 10-7~10-9 (0.5-30)MHz HAE = 450 0 .
888 H 3 -4 HH 2 540 0 =
889 B RE FL Y A H BHI X ik 350 0 =
890 LA H B A B 2R = 350 350 =
891 JER/N=E D e R/ ik 150 0 =

N . . e B BHFE R S AL, BlzX21
892 LA HAL PELAR 0.1%¢ LR 10-2Q0~105Q HH 2 5 5 5 J=T FISE61,N . 305

N . e B BHFE ) S AL, 511ZX25
893 LA HAL PELAR (0.01~0.05)%% | 10-2Q~105Q FH 2 10 10 J=T FISE61N . K610
894 LA R BE BRI A HH 27 400 0 =
895 L H B R A FH 27 2 400 0 =
896 NER/i:=N i 0.02% 10-2Q0~104Q H 22 450 225 =)
897 ELI HLF 0.5%¢ VLR 10-5Q0~106Q FH 27 2 180 90 =
898 NER/i:=N i 0.05% 10-2Q0~105Q H 22 400 200 =)
899 L L (0.1~0.2)% 10-5Q0~106Q FH 27 2 300 150 =
900 BB 2R H 2R 150 0 =)

AN B AN 22 AR A (B e

902 JHFE YRS e BELAE R 3R A 22 5 700 0 =
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903 55 FH R 4 e b r LI A H2E = 500 0 =

904 TR AU, 5 A R BEL R B A 0.01mQ-20kQ e 500 300 5

905 FER RS & H2E = 400 0 =

906 JE4ELR E G (0-2000) Q 2 = 300 300 JHIE

907 J A BEL A A7 400 0 =

908 LA HLSE S 300 0 &

909 20 At L BELAS H2E = 500 0 =
—

910 T A RS R 25 500 20 p | SO0, BN
—

911 TR N AL R AL 0.5%+3pe (0.1~105)pe HL 2 500 20 =} 241500, ij T

912 ToLR BN A5 AR KA 2% 2 450 450 JEIE

913 TR H2E = 300 0 =

914 W] £ FL 25 36 T 1A 2 300 0 =

915 BESER H2E = 300 0 =

916 iR EVAAN CikA ) 1.02% LA I (0.05~2)T A7 400 0 &

917 RO NCIERASY) 1.0 K LT (0.05~2)T Hi 22 300 0 &

918 LR EINC ) 0.5V I (0.05~2)T HL % 600 0 =

919 FETRLTH (D) 0.54% &% LR (0.05~2)T Hi 2 300 0 &

920 I i A £ A7 400 0 =

921 B BH T HLAE H = 540 0 &

922 B 3 B 22 E 500 0 =

923 07z p BN A H = 360 0 &

924 B wfr z 1t FH 2 400 0 =

925 B HbF 0.02%% L 22 350 350 =

926 R 2 R AN FH 2 720 0 =

927 SEI6 LB 2% H = 500 0 &

928 — A IE LA A BRI A FH 2 400 0 =

929 HER VR 8 BELAE ST M43 S 350 0 &

930 EH T P s R BRI A HH 27 400 0 =
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) = ALK W MR RTHIT *—%‘%ﬁ W”iﬁfﬁ’*‘i% W Kol 250
931 TRZE A BHR I 1R 3R AL 22 400 300 =)
932 i i, 2 3 e W A s HH 2 5 800 0 =
933 A F AR A HH, 2 o8 600 0 =
934 L Y R A AR A ik 400 0 =)
935 A FH B 2 3o 3 EE BRI A 22 600 0 =
936 A 1 B P 2§ ik 500 0 =)
937 2 M () R 22 600 0 =
938 246 2 8 (T8 it A ik 600 0 =)
. s e mBERE ) AL e AR
a2 v [ RS T 3 e =
939 dig R T E FH 2 12 12 1£100%. 171200
940 A AR TR 1 RE I A A3 HLA 5 300 300 =
= N
941 A A LA 2 % 500 20 g | ERR00 IR
= N
942 A BRI AT R 4 2 % 500 20 g | ERR00 IR
= N
943 BN AT RS 2 % 500 20 g | ERR00 IR
= N
944 5 25 L LRSI 2 % 500 20 g | ERR00 IR
945 Pt 5| 28 T e BHI A ik 500 0 =
946 Pt 28 A LI HL B AY 0.01mQ-200mQ LSS 500 300 =)
947 e E SN L2 500 0 =)
948 B Hb IR H2E 500 0 =)
949 Bt PSR AG E E E 0.1%% 0.01Q~1000Q B 2R E 450 0 =)
950 P AR 1.04 ~52 0~2000Q H 22 70 30 =)
951 2 b 5 e B A FH 27 2 500 0 =
952 2 e e BELI H 2R 350 0 =)
953 T EIR ) A 100kVLL T FH 27 2 800 500 =
954 A ARG AE (R E)) HH 27 300 300 =
955 &I V1A FEAX I 800 0 =
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B

BRI B 1 re B

Fs REAK HHRESFR WETEHE AR 1] G2 (55) W B BT i % 53
956 Kot H A7 150 0 =
957 T2 e 600 0 5
958 VRt - FEBH 20X H2E = 500 0 =
959 [ ] 4% E BEL A 0.1 LR L5 270 0 =
960 AR [ A% H2E = 100 100 =
e i Yo BHAR I S ) = BELAE
961 i BELAE H 2 12 12 = 351004, 11200
962 e o BEL DU 1 102~1012Q S 12 12 g | E—tﬁgﬁo %ﬁjiﬁz& 1@2”07) BHAR
963 T 22 1%‘53;? 2% 200 0 A
10GQ-10T
964 o s v {E L FE 2% Q;1000V- H2EE 300 0 A
10000V
965 paRIik 0.2 LR H2E = 130 0 =
966 B H oA, E 28 B L 600 0 =
967 B E oA A H 2 350 0 &
968 22 Ty REE T 42 1 fp BRI 0 2 700 0 =
969 BN A NAZ I RAY 0.5%+3ue (0.1~100000)ue Hi 22 450 450 I IE
970 AN AR R G FH 2 = 450 450 JEIE
971 B2 HLRH R AR A 5% +3uE (0.1~100000)ue 122 = 320 320 iHiE
972 B 75 HLBH S AR Y 0.5%+3p¢ (0.1~100000)ue L 450 450 JHiE
973 Fe L PRI £ T T N 500 0 4
974 | HLZR FEZE AR HBH 2 g A H 500 0 &
975 A2y TUE R IX FELPHER0.1-1.0 2R E 500 350 =
10pF-1uF 1pH-
976 2% HL B 0.1 L~ 1H1H 0.1Q~ A2 500 0 =
500kQ
977 Ha 25 B4 HH 27 500 0 =
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978 FEL2E 5 E H RIS B H2E = 600 0 =
979 FEL ) A 0.1 LK 1uH-1H FH 2 450 0 &
980 Rt R A BELI XA H2E = 300 0 =
981 235 A7 2 e EL B A 27 500 0 =
982 iy B SR AR TH A (0-10000) Q A7 600 300 =
983 R s X oz b e LI A 27 500 0 =
984 HEREEE ) 1.0 XL (1~10)mWhb L2 200 0 =
985 hiERE T 5x10-3 (1~10)mWb HLA2 = 300 0 =
986 AEEICIEE:) 2x10-3 (1~20)mWb Hi 2 400 0 =
987 T bt 5%%. 10%% (0.05~10)mT S 200 0 =
988 T HIR IR IR H2E = 300 0 =
989 T FLVE LW BEIRTE RS IR A 2 300 300 =
Hi,BEL{# (0.05~
990 ZE B =R HA 1999)Q HifHLL 27 500 350 =
0.8-1.2
991 I, LR 0.02% 10-3Q0~102Q FA 27 800 0 =
992 FrAER I & HH 2 3100 0 &
993 P BEAR (b E D H 27 = 500 300 =
994 P i HLBH 0.2%% LK HH 2 90 0 &
995 PRk FLFH H 27 = 90 0 =
996 P v HLBEL 0.05~0.2%% 10-3Q0~105Q HH 27 90 0 &
997 P 1t FLBH (0.01~0.02)%% | 10-3Q~105Q H2E = 90 0 =
998 v H 0.05% 11'_%11%%%\/ A2 100 100 (=
999 v H (0.005~0.01)% 11'_%11%%%\/ A2 130 130 (=
1000 v H 0.02% 11'_%11%%%\/ A2 100 100 (=
1001 AR s A B HL B S 1600 0 &
1002 LR HA B A A HH 27 500 0 =
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1003 22 50X H2E = 600 0 =
1004 CELEEIRIE S e 600 0 5
1005 A2 i BT AN H2E = 600 0 =
1006 EL KA 27 800 0 =
1007 B B R AR 100kVLL R H2E = 800 0 =
1008 LV R A 100kV~150kV L 1000 0 =
1009 TR C A% AH 28 H2E = 600 0 =
1010 A B B R 27 600 0 =
1011 719 HE B H2E = 500 0 =
1012 | S Ab ek R gs BE I FE I R A L 600 0 =
1013 S B TR A I A A7 600 0 =
1014 | Ak ErEE TR 28 T EEE A 2 600 0 =
1015 245 KAEAAIEAL H2E = 800 0 =
1016 T2k = EAZ AR AL A7 600 0 =
1017 7K 3 EAX H2E = 300 0 =
1018 B B R A7 500 0 =
1019 B B IR R R H2E = 500 0 =
1020 B ER 100kV~150kV A7 1000 0 =
1021 B mER 100kVLL R H 2 800 0 &
1022 B L ds 100kV~150kV A7 1000 0 =
1023 =g I AAX HL 22 300 0 =
1024 RIS A 22 E 1000 0 =
1025 [A) 2% o 77 TG R B 10kVLLF H = 550 0 &
1026 — s e R R g FH 2 600 0 =
1027 AR A H 600 0 &
1028 NARESDZE A MR FH 2 500 0 =
1029 4 H 348 LA 7 A H = 600 0 &
1030 B i AR AT T g 100kV~150kV A7 o 1000 0 =
1031 B e R A0 AR T g 100kVLL T S 800 0 &
1032 Wi R B 7 A 1 o HH 27 350 0 =
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1033 i RS A E DA H2E = 600 0 =
1034 PUFPA RN A e 600 0 5
1035 2825 I A o A H2E = 600 0 =
1036 26 2 A FE P R A 27 600 0 =
1037 28 2 255 AL H2E = 800 0 =
1038 24 2% v BN 27 500 0 =
1039 i 2% LR 1 LLF 0~200GQ H2E = 70 0 =
1040 Fif EEL AR A 27 300 0 =
1041 Fi FEL A A7 500 0 =
1042 S TR AR A 27 600 0 =
1043 NG R W T 50kVLL R H2E = 700 0 =
1044 P fi i [ g A7 600 0 =
1045 BRI T g H2E = 1000 0 =
1046 2 L e e 100kV~150kV A7 1000 0 =
1047 2B e I A HH 2 1000 0 &
1048 2 i s A AR T A HEEE 1000 0 =
1049 LK AR RIS L H2E = 800 0 =
1050 KACAIE L A7 800 0 =
1051 B A R A HH 2 600 0 &
1052 R A R P A A7 600 0 =
1053 BRI DAY H = 600 0 &
1054 HIES BT X 22 E 600 0 =
1055 LK AERIEAL H = 800 0 &
1056 TARKAEHL FH 2 800 0 =
1057 o [ 56 L 22 600 0 =
1058 7o R A6 2 FH 2 640 0 =
1059 i R H = 640 0 &
1060 v A6 AR T A FH 2 1000 0 =
1061 i R AR A XA S 600 0 &
1062 e B T AU P DA A7 800 0 =
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1063 e T S B R DA H2E = 800 0 =
1064 i A TR RE IR e 600 0 5
1065 i K AEL H A7 800 0 =
1066 e 1 B B OGRS 27 800 0 =
1067 [ A a Ak 100kVEL R L2 800 0 =
1068 A RN S 27 640 0 =
1069 B R 100kVEL R L2 800 0 =
1070 | AR 2R AR ORI 2 A A L 600 0 =
1071 43 3 B 43 100kV~150kV FH 27 5 1000 0 =
1072 R AL T 22 LSBTl A 27 600 0 =
1073 AT R R AR FH 27 5 600 0 =
1074 T % i Bl A PR A 2 800 0 =
1075 L kA 0.1 LR 0~10kV H2E = 180 0 =
1076 FHL 28 H 25 K AE RIS L A7 800 0 =
1077 FHL 284 T 8 o s s 100kV~150kV FH 2 1000 0 &
1078 HLA o) [ 2 e IR DU i R 4t 100kVLEL T A7 800 0 =
1079 HHL 2% H JB A HH 2 500 0 &
1080 L LR A 0.1~0.5% 2kALLF HEEE 90 50 =
1081 S e L BE 043 H2E = 500 0 =
1082 K HLI R A R 2000ALL K 2 600 0 =
1083 LSRRI 100kV~150kV FH 2 5 1000 0 &
1084 BPOETR G E 100kVLEL ~ FH 2 800 0 =
1085 SR e R 100kV~150kV HL 22 1000 0 =
1086 FERAR AT i R A A7 o 600 0 =
1087 2T H B X L 22 270 0 =
1088 A 2 A BT AR A FH 2 600 0 =
1089 | ARJE AR B AR ZE S A H = 600 0 &
1090 | ks AR L IFES R FH 2 600 0 =
1091 AR s S AR X S 600 0 &
1092 AR T BRI A A7 600 0 =
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1093 AR R I PR 0 5 B 100kVLL R H2E = 800 0 =
1094 AR BER I PR R 06 2 B 100kV~150kV HH 2 5 1000 0 5
1095 AR L 28 3 X H2E = 600 0 =
1096 AR LAY 27 600 0 =
1097 | (bl i) Bl e iR i A A7 500 0 =
1098 HA A E BRI 27 1000 0 =
1099 ARG H2E = 600 0 =
1100 ARG S 27 800 0 =
1101 H s AR I 15 Eods H2E = 800 0 =
1102 H ) H R 16X L 550 0 =
1103 A CReR) H2E = 800 0 =
1104 4 e A 2 800 0 =
1105 B R H2E = 130 30 =
1106 FeelE i & 1.0~5.0 % 2 130 0 =
1107 BEMET R (BIR) 1.5~5.0 2% HL 2 = 100 0 &
1108 FREMIR R 1.0%% ) UL~ A7 310 0 =
1109 FRE IR R 0.05%~0.5%% HH 2 310 0 &
1110 i ke s LR HEEE 500 0 =
1111 B 7 i ER 0.005% 0~1000V H2E = 500 0 =
1112 [N G A 0.001%% 0~1000V 2 600 0 =
1113 B ER 0.0005% 0~1000V H2E 980 0 =
1114 HinFHER 0.1 K UL'F 0~1000V A7 o 160 0 =
1115 B ER 0.01~0.05%% 0~1000V H2E 400 0 =
1116 Hin Rk 0-2A 2R E 300 0 =
1117 Hi A7 iR 0.017% K% UL R 0~2A H 2R 360 0 =
1118 NERN IR 22 % 200 0 =
et 0~1000V, 0~ e R
1119 HIERFRE ) 0.5 20A 2 E 100 25 E
1120 ER R E e 0.2% oy O 25 180 60 &
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FE = A ERESS | WEGE pamn | ER W”iﬁfﬁ’*‘i% KB Rl 29
1121 BRI () LogruF |00 O 2% 50 25 4
1122 IEN AR G L2 200 0 =
1123 LI VRS0 Y HLA2 = 500 0 =
1124 L HL R R L2 500 0 =
1125 FLIL HLE R B A HLA2 = 1000 0 =
1126 Eim i ERGEEH D) 1.0% % LT 0~1000V HLA 50 0 =
1127 HimERGER ) 0.1%% 0~1000V S 180 75 =
1128 B ERGEE ) 0.2% 0~1000V L2 100 40 =
1129 HimERGER ) 0.5%% 0~1000V S 80 25 =
1130 B A 2T 0.05% (0~2.111111)V HLA 270 0 =
1131 B A ZE T (0.01~0.02)% [ (0~2.111111)V HL 350 0 =
1132 EHimihrETH 0.1 LT (0~2.111111)V Hi 22 180 0 =)
1133 EL R dRE ) 0.1%% 0~50A A7 180 75 =
1134 B iR (FRE ) 0.2% 0~50A HL 2 = 100 40 &
1135 EL R dRE ) 1.0 % VLT 0~50A A7 50 0 =
1136 B RR dEE ) 0.5% 0~50A HLAP 80 25 =)
1137 R FES 0.005~0.02 (0~1B§8§X, © 25 900 0 &
1138 B AR 25 0.01~0.05%% (o~1~oggix, Of s 700 0 &
1139 E bR R R 0698832/2 o (0~1000)V H1 22 900 0 =
et , 0.005% ~ o .
1140 E bR R R 0.001% (0~1000)V H1 22 800 0 =
1141 EL b U R A g L 900 0 =
1142 2 (A BRI TR R 5t 22 = 400 0 &
1143 W 75 ST AT A 1. 27 H 2R = 750 0 =
1144 e 75 A o AT A 1, 27 H 22 = 750 0 &
1145 I ] i s A L2 700 0 =
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1146 #5237 L F A A H2E = 1000 0 =
1147 | PEHE B i (2B e 600 0 5
1148 (% FH itk s H gt A H2E = 400 0 =
1149 [ i s A 27 550 0 =
1150 — U A H2E = 400 0 =
1151 K EFFLIRIR AL 27 500 0 =
1152 ST H2E = 400 0 =
1153 | R4S B E R A & 27 500 0 =
1154 &5 Rt R AR L BEI R4 A7 400 0 =
1155 25 EIAA 27 400 0 =
1156 A2 A 45 2 L I0 L A% H2E = 300 0 =
1157 ks LA A HEEE 350 0 =
1158 REHERS H2E = 800 0 =
1159 TR HEEE 200 0 =
1160 BFAILTIGIE R 2% HH 2 400 0 &
1161 e & HL IR HEEE 1000 0 =
1162 AL A 75 H2E = 600 0 =
1163 Wy it 1~5%! A7 700 0 =
1164 Fetadts AR IR AN HH 2 1500 0 &
1165 I 5 W7 % 2% AE Ff HH 2 5 200 200 =
1166 TR IR U Z B R A H = 200 200 &
1167 W =RE (0.5~2.5)% Vf:’ 0(_)5~ ri(\)/(l'\gg'gv H1 22 1300 0 =
1168 ROEPREEA Rl 5 H 500 0 &
1169 | QR R AR il A HH 2 5 400 0 =
1170 A= HERREA 0.05%% (0~10)A 22 = 900 0 &
1171 | U2 DhRe A il (e R R A7 o 500 0 =
1172 -2 2 B0 AL S 700 0 &
1173 B A7 400 0 =
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1174 HFHE R H2E = 400 0 =
1175 B R (B R) e 130 0 5
1176 BT D2 R Bk H2E = 300 0 =
1177 B ohZEi (RSO EEVIENEEES L 700 0 =
1178 WrZHE 5{iz H 2% 800 0 =
1179 Brz R 3z 27 400 0 =
1180 WrZHE 472 A7 400 0 =
1181 BrZ HER Ahrf (530 27 450 0 =
1182 WrZHE 61 A7 1600 0 =
1183 BrHER 0.1 LT 10pF-1uF S 270 0 =
1184 BOw R R 0.5 % LA F H2E = 160 0 =
1185 B R 0.5%% K LK 2 160 0 =
1186 Bl KA A% H2E = 500 0 =
1187 FRAESE 2 600 0 =
1188 FHAZ TR HH 2 1000 0 &
1189 T 4% FL I RAX FH 2 = 500 0 =
1190 Fol R IR S A H2E = 400 0 =
1191 Jel R H R AE A HEEE 600 0 =
1192 el £ L A HH 2 400 0 &
1193 RS HE 9 1. 2% 2 270 0 =
1194 75 R 1, 2% HL 22 400 0 =
1195 — SRR HEAX DCV:0.05% 22 E 1000 0 =
1196 SHEF A o1~o0syz | 07000 ° s | 540 0 &
1107 ESIECSIE ©.02~005)% | O 0T | 800 0 &
1198 =T IRE 0.1~05% | ° eggg/A, 0 2 630 0 =
1199 —AHEE B S50 A S 900 0 &
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1200 = R 0.5% © Gfgg\)’A © % 1000 0 &
1201 — AT R H2E = 450 0 =
1202 — M AT R 0.01% ~0.05% 27 450 0 =
1203 — AT G AH A H2E = 200 0 =
1204 S AARAE T 2R 0.002~0.01 %% (0~1:)§8§\A/, © G 900 0 &
1205 SARRRUE T %5 0.05~0.5 % (0@28%, © i 800 0 &
1206 AR i s 6 2 27 600 0 =
1207 PARRIRAX A7 1200 0 =
1208 AL R 1.0%% 2 630 0 =
1209 HHE Dh 2 1 H2E = 700 0 =
1210 I R R 1000ALL HEEE 150 0 =
1211 BRI AN H2E = 400 0 =
1212 RNV SR R St A7 2500 0 =
1213 SEESAE W R H2E = 300 0 =
1214 MR A7 280 0 =
1215 ST 0.1 K UL F 0~10MQ H2E = 130 0 =
1216 P LA A A7 800 0 =
1217 i s ik s L9t A 15kv & LA R HL 22 950 0 =
1218 fiif [ 336 v 10kVLLF FH 2 550 0 =
1219 fiif s 0 A 50kVLL R HL 22 700 0 =
1220 T s 56 L +3% 10kVLL T A7 o 490 0 =
1221 fii s 356 L L 22 700 0 =
1222 T s 246 25 A 57 10kV A7 o 600 0 =
1223 i s A H = 550 0 &
1224 fiif 45 E A A7 o 550 0 =
1225 it FEUE A (B S 700 0 &
1226 RN HH 27 400 0 =
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1227 TR H FE R A H2E = 280 0 =
1228 I FELOR IR 28 A HH 2 = 400 0 5
1220 | iR IFSAHERIR A S 450 0 %
1230 i iy D A7 700 0 =
1231 n] Y ke s AR IR 27 500 0 =
1232 Y8 2% it s A0 2 H2E = 600 0 =
1233 K% B s SRR HH 2 5 1400 0 =
1234 e 2 DU 2 U A A H 27 550 0 =
1235 K 2 A AR R IR F 27 2 300 0 =
1236 s 2 AR A2 H2E = 600 0 =
1237 P fi i [ g A A7 350 0 =
1238 AR R A% — A H2E = 600 0 =
1239 2 fi EL AR A 2 400 0 =
1240 T EEF I H2E = 1500 0 =
1241 2 EL I e 2 100kV~150kV A7 1000 500 =
1242 2 EL S AN H2E = 1500 0 =
1243 LB HIER 0.01~0.02%% (0~1000)V HL % 630 0 =
1244 LA TR R 0.52%~1.0%% H 2 160 0 &
1245 AT R R 0.012~0.02% 2 560 0 =
1246 LT HER 0.05%¢~0.2% HL 22 200 0 =
1247 LT HER 0.05~0.2%% (0~1000)V L 230 0 =
1248 T IR 0.12%~0.5%% HL 22 150 0 =
1249 BT IR 0.01%~0.05% FH 2 240 0 =
1250 T IR 1.0% & LLF L 22 70 0 =
1251 BT IR 1.0%% ) UL~ FH 2 80 0 =
1252 LA IR 0.01%~0.05% H = 270 0 &
1253 A R 1 2 St HH 2 = 700 0 =
1254 A i A S 700 0 &
1255 2 R FE A AY H2EE 280 0 =

%54 7, L6810




RN ENRRE (R FragRkS M BAE. RERS R
e A AR RSB RE . e R E SRR ARV B R AR, XU U R

e = AL wmESy | WEGHE R *—%‘%ﬁ W”iﬁfﬁ’*‘i% BB gL Rl 253
1256 2 i FE FL ORI A H2E = 280 0 =
1257 S i % F (A ) 0.1% OOy O 2 230 60 &4
1258 S i % F (A ) 0.5% OOy 9 2 100 25 &4
1259 S i % F (A ) Logru |00 O 2 50 20 &4
1260 ETRIESNCTEN o2z |00 O % 180 60 &
1261 LI FER L5 500 0 =
1262 AL R R (FRE ) 0.1% 0~1000V H2E = 180 75 =
1263 L E R (FEE Q) 0.5%% 0~1000V A7 80 25 =
1264 A2 L R R (FREE ) 0.2% 0~1000V HL 2 = 100 40 =
1265 L E R (FRE Q) 1.0 % VLT 0~1000V H 27 = 50 0 =
1266 i HLI R (FREE ) 0.1% 0~20A H 27 =5 180 75 =
1267 LR (FEE Q) 0.5%% 0~20A i 80 25 &
1268 i HLI R (FREE ) 0.2% 0~20A HL 2 2 100 40 =
1269 LR (FEE Q) 1.0 % VLT 0~20A A7 50 0 =
1270 2 AL H2E = 400 0 =
1271 AR HE R YR 0.01% LR (0.1~1000)V 2 = 800 0 =
1272 AR I HL R IR 0.005%% LA~ (0.1~1000)V L2 900 0 5
1273 2k FL ARSI HH 2 = 1000 0 =
1274 2k L LRI R 4 HL 22 2000 0 =
1275 AR 5 % A 2R E 400 0 =
1276 o A gt 1, 2% H 1100 0 &
1277 YR 153 P FE A HH 2 5 720 120 =
1278 Vet 1 HE 3 N e A HL 22 720 120 =
1279 BRI HH 2 = 1200 0 =
1280 QUERE TR H 2 500 0 =
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1281 BihE (0.5~2.5)% Vf:' 0(_’5 nl](\)/(l'\gngv R 1300 0 4
1282 ARG S AIRAX 0.01%~0.05% 27 1200 0 =
1283 TS FEE SRR AL 0.057¢ LA~ A7 800 0 =
1284 I FRAL AN 0.05%% LK L 800 0 =
1285 TR AL 0.0125 ~0.05%% H2E = 1200 0 =
1286 SRR 4072 27 800 0 =
1287 SRR 0.05%% LA F H2E = 800 0 =
1288 SRR 0.01%~0.05% F 27 2 1200 0 =
1289 LA R R H2E = 310 0 =
1290 LA A 6 5 B 100kVLL R HEEE 800 500 =
1291 LA 156 1% % 10kVLLF H2E = 550 0 =
1292 LA s 156 14 7% 100kVLL R HEEE 700 0 =
1293 L s 156 1% % 100kVEL R H2E = 800 500 =
1294 A s A HEEE 550 0 =
1295 T AR Lo~15% | M2V 2 130 0 &
1296 TAREARA 0.5% Loezy: 25 180 0 4
1297 TH A 20~s50% | Y220V 2 100 0 4
1298 A~ N 7 TR BT 1, 2% HL 22 400 0 =
1299 NGES s 1, 2/ A7 o 400 0 =
1300 v R I FEL IR L 22 900 0 =
1301 TR SR AR H 27 = 500 0 =
1302 R HL 22 450 0 =
1303 5 2 HLYEA H A7 2 800 0 =
1304 kA 2 B AR R 2 S 500 0 &
1305 | =ikE 4 H 3 A RS i AeUE FEYR A7 500 0 =
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